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हायर सेकें डरी मुख्य परीक्षा- 2023 

HIGHER SECONDARY(MAIN) EXAMINATION-2023 

लेखाशास्त्र 

ACCOUNTANCY 

(HINDI & ENGLISH VERSION) 

TOTAL 

QUESTIONS:23 

TOTAL PRINTED 

PAGES:12 

TIME:03 HOURS MAXIMUM 

MARKS:80 

 

निरे्दश:- 

(I)   सभी प्रश्न हल करिा अनिवायय हैं। 

(II)  प्रश्न क्र. 1 से 5 तक 32 वसु्तनिष्ठ प्रश्न हैं, निसमें सही नवकल्प 6 अंक, ररक्त स्थाि 7 

अंक, सही िोड़ी 6 अंक, एक वाक्य में उत्तर 7 अंक, सत्य/असत्य 6 अंक के प्रश्न हैं। 

(III) प्रश्न क्र. 6 से 15 तक अनत लघुउत्तरीय प्रश्न हैं। शब्द सीमा 30 शब्द है। प्रते्यक  

           प्रश्न के नलए 2 अंक आंवनित हैं। 

(IV) प्रश्न क्र. 16 से 19 तक लघुउत्तरीय प्रश्न हैं। शब्द सीमा 75 शब्द है। प्रते्यक प्रश्न के 

नलए 3 अंक आंवनित हैं। 

(V) प्रश्न क्र. 20 से 23 तक नवशे्लषणात्मक प्रश्न हैं। शब्द सीमा 120 शब्द है। प्रते्यक प्रश्न 

के नलए 4 अंक आंवनित हैं। 

(VI) प्रश्न क्र. 6 से 23 तक सभी प्रश्नो ंके आंतररक नवकल्प नर्दये गये हैं।  

(VII) संख्यात्मक प्रश्नो ंमें शब्द सीमा का बंधि िही ंहै। 

 

Instructions: -  

(I) All questions are compulsory to solve. 

(II) Question No. 1 to 5 are objective type questions. There are 

32questions each carrying 1 marks. It contains choose the correct 

option 6 marks, Fill in the blanks 7 marks, Match the columns 6 

marks, True/False 6 marks, Answer in one sentence 7 marks.  

(III) Question No. 6 to 15 are very short answer type questions. Each 

carrying 2 marks.  Word limit is 30 words.  

(IV) Question No. 16 to 19 are short answer type questions. Each carrying 

3 marks.  Word limit is 75 words.  

(V) Question No. 20 to 23 are analytical questions. Each carrying 4 marks.  

Word limit is 120 words.  

(VI) Question No.6 to 23 have internal choice. 

(VII) There is no limit of words in numerical questions. 

 
 
 
 

केवल अभ्यास हेतु िमूिा प्रश्नपत्र 
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1. सही नवकल्प चुिकर नलखखए -            1X6=6 

(I) प ूँजी का वह भाग जो ककअंशधारियो ंसे वास्तव में प्राप्त कि किया गया है, कहिाता है  - 

 (अ) प्रदत्त प ूँजी     (ब)   किगगकमत प ूँजी 

 (स)  याकित प ूँजी     (द)  अकधकृत प ूँजी 

(II) अंशो ंके हिण पि अंश प ूँजी खाता डेकबट होगा - 

(अ) अंशो ंके याकित म ल्य से     (ब) अंशो ंके िुकता म ल्य से 

(स)  अंशो ंके किगगकमत म ल्य से   (द) अंशो ंके अंककत म ल्य से   

(III) कम्पिी के स्थिकत कवविण का प्रारूप कम्पिी अकधकियम 2013 की ककस अिुस िी में 

कदया गया है – 

(अ) अिुस िी III भाग 1                  (ब) अिुस िी III भाग 2 

(स) अिुस िी III भाग 3                        (द) अिुस िी III भाग 4 

(IV) औसत वस िी का सम्बन्ध है– 

 (अ) कवकियोकजत प ूँजी से                (ब) अंशधारियो ंके कोष से 

 (स) शुद्ध उधाि क्रय से        (द) शुद्ध उधाि कबक्री से  

(V) बेिे गए माि की िागत ₹20000 है व औसत स्टॉक ₹8000 है तो सं्कध आवतग अिुपात 

होगा – 

   (अ) 2 गुिा      (ब) 2.5 गुिा  

      (स) 3 गुिा                (द) 3.5 गुिा   

(VI) िोकड़ प्रवाह कवविण समं्बकधत है  - 

(अ) AS-3 से             (ब) AS-6 से 

(स) AS-9 से                       (द)  AS-12 से 

Choose the correct option - 

(I) The portion of the capital which is actually received from the Shareholders, is 

called  - 

 (a) Paid-up Capital     (b) Issued Capital 

 (c) Called-up Capital     (d) Authorised Capital 
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(II) At the time of forfeiture of shares, Share Capital is debited by- 

 (a) Called-up amount on shares    (b) Paid-up amount on shares 

 (c)  Issued amount on shares   (d) Face value of shares 

(III) The format of Balance Sheet of a Company is given in which schedule of the 

Company’s  Act 2013- 

 (a) Schedule III part1    (b) Schedule III part 2 

 (c) Schedule III part 3     (d) Schedule III part 4 

(IV) ‘Average collection’ is related to — 

 (a) Invested Capital    (b) Shareholder’s fund 

 (c) Net Credit Purchase       (d) Net Credit Sale 

(V) Cost of goods sold is ₹20000. Average stock is ₹8000. Stock turnover Ratio will be - 

 (a) 2 Times     (b) 2.5 Times  

 (c) 3 Times                 (d) 3.5 Times  

(VI) Cash flow statement is related to  — 

 (a) AS-3                 (b) AS-6 

 (c) AS-9                 (d) AS-12 
 

2. ररक्त स्थािो ंकी पूनतय कीनिये –           1X7=7 

(I) साझेदािो ंका दाकयत्व ..........होता है।  

(II) किवृत्त साझेदाि को देय िाकश का ककश्ो ं में भुगताि कििे पि ............... 

खाता खोिा जाता है। 

(III) साझेदाि के प्रवेश पि  यकद ख्याकत पहिे से पुस्तको ंमें कवद्यमाि है तो ख्याकत  ....... 

...  अिुपात में कवभाकजत होगी। 

(IV) वस िी खाता .................प्रकृकत का खाता है।  

(V)  सभी साझेदािो ंका कदवाकिया होिा फमग का  ................. समापि है। 
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(VI) ................. अंशो ंपि िाभांश की दि किकित होती है।  

(VII) ............ ऋणपत्र अंशो ंमें परिवकतगत ककए जा सकते हैं। 

 

Fill in the blanks –  

(I) The liability of Partners is  ……………. . 

(II) …………………. account is opened, when the amount payable to retired partner is 

given in instalments. 

(III) At the time of admission of a new partner, if  Goodwill already appearing in the 

books. It will be distributed in …………..ratio. 

(IV) The nature of Realisation account is …………… . 

(V) Insolvency of all Partners is…………… dissolution of Firm. 

(VI) The rate of dividend is fixed on………….. shares. 

(VII) ……………….. Debentures can be converted into shares. 
 

 

3. सही िोनड़यााँ बिाकर उत्तर नलखखए -         1X6=6 

“अ”       “ब” 

(I) पुिम गल्यांकि पि हाकि    (अ) ख्याकत का िेखांकि                            

(II) औसत िाभ सामान्य िाभ से अकधक       (ब) प ूँजी खाता के्रकडट 

(III) सामान्य िाभ की गणिा    (स)पुिगगठि  

(IV) आहिण पि ब्याज                            (द) अकधिाभ 

(V) साझेदाि का प्रवेश      (इ)  कवकियोकजत प ूँजी 

(VI)      AS-26            (फ) गुणिफि कवकध  

        (ग) प्रास्प्त अिुपात 

        (ह) प ूँजी खाता डेकबट  
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Match the columns- 

"A"        "B"  

(I)  Loss on Revaluation     (A) Accounting of goodwill 

(II) Average profit more than Normal profit (B) Capital A/C credit 

(III) Calculation of Normal Profit    (c) Reconstitution  

(IV)  Interest on Drawing     (D) Super Profit 

(V)  Admission of a Partner    (E) Capital employed  

(VI) AS-26                   (F) Product method 

                  (G) Gaining ratio  

              (H) Capital account debit  

     

4. सत्य / असत्य में उत्तर नलखखए -                       1X6=6 

(I) साझेदािी व्यवसाय का उदे्दश्य वैधाकिक होिा िाकहए। 

(II) िये साझेदाि के प्रवेश पि उसके  द्वािा प ूँजी िािा अकिवायग है। 

(III) ऋणपत्र अल्पकािीि प्रकृकत के होते  हैं। 

(IV) ऋणपत्रधािी कम्पिी के वास्तकवक स्वामी होते हैं। 

(V) ‘फिीिि की कबक्री’ एक कवकियोग कक्रया है।  

(VI)     गैि िाि  संपकत्तयां कंपिी के दीर्गकािीि कवकियोग हैं। 

Write answer in True/False  – 

(I) The objective of Partnership business  must be Legel. 

(II) At the time of admission of a new partner, It is compulsory to bring capital by him. 

(III) The nature of Debenture is short term. 

(IV) Debenture holders are the real owners of Company. 

(V) ‘Sale of furniture’  is an Investing Activity. 

(VI) Non-current assets are Company’s long term investment. 
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 5. एक वाक्य में उत्तर नलखखए –                                   1X7=7 

(I) साझेदािो ंके मध्य किस्खत समझौते को क्या कहते हैं? 

(II) थिाई प ूँजी पद्धकत में प ूँजी खाता सदैव कौि-सा शेष प्रदकशगत किता है? 

(III) साझेदािी संिेख के अभाव में साझेदािो ंके मध्य िाभ/हाकि का कवभाजि ककस अिुपात 

में ककया जाता है? 

(IV) कम्पिी के िाम को अिुमोकदत कौि किता है?  

(V) संिय एवं आकधक्य को कम्पिी के किटे्ठ में ककस शीषगक के अंतगगत दशागया जाता है? 

(VI) कवत्तीय कवविण बिािा ककस प्रकाि की आवश्यकता है ? 

(VII) कम्पकियो ंके सञ्चािि परिणाम एवं कवत्तीय स्थिकत को कौि-सा  कवविण प्रदकशगत किता 

है? 

Write the answer in one sentence – 

(I) What is the written agreement between the Partners called ? 

(II)  Which balance does the capital account always show in the fixed capital method ? 

(III) In which ratio profit/loss  is distributed between the partners in the absence of 

partnership deed? 

(IV) Who   gives approval to the name of the Company? 

(V)  Under which heading ‘reserve &surplus’ is shown in the Company’s Balance sheet. 

(VI) What type of necessity is preparation of Financial Statement? 

(VII)  Which statement shows the Operating result and Financial position of the Company? 
 

6. साझेदािी की दो कवशेषताएूँ  किस्खए।                 2 

Write two characteristics of Partnership.   

अथवा/Or 

साझेदाि के दो अकधकाि किस्खए। 

  Write two rights of a Partner.   

 

7. अकहंसा ,आथिा व आशी एक फमग में साझेदाि हैं,जो िाभ-हाकि 4:2:1 के अिुपात में बांटते हैं । 

आशी फमग से अवकाश ग्रहण किती है औि अपिा समस्त भाग अकहंसा को प्रदाि किती है। 

 िया िाभ-कवभाजि अिुपात ज्ञात कीकजए।                2 
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In a firm Ahinsa, Aastha and Aashi are partners sharing profit and loss in the ratio of 

4:2:1 . Aashi retires and give  her whole share to Ahinsha. Calculate new profit 

sharing ratio. 

अथवा/Or 

पिी,शुभ व आयाग एक फमग में साझेदाि हैं। जो िाभ-हाकि को 3:4:2 के अिुपात में 

बांटते हैं । शुभ फमग से अवकाश ग्रहण किता है। शेष साझेदाि  5:3 के अिुपात में िाभ/हाकि 

बाूँटिा तय किते हैं। प्रास्प्त अिुपात की गणिा कीकजए।  

Pari, Shubh and Aarya are partners in a firm in the ratio of 3:4:2 

respectively. Shubh retires from firm and remaining partners decide to share  

future Profit/Loss in ratio of 5:3. Calculate gaining ratio. 

8. साझेदािी के समापि औि फमग के समापि में दो अंति किस्खए।              2 

Write two differences between dissolution of Partnership and dissolution of 

Firm. 

अथवा/Or 

 ऐसी कोई दो दशाएं किस्खए कजसके अंतगगत न्यायािय फमग के कवर्टि का आदेश दे 

सकता है। 

Write any two Circumstances when the Court can dissolve the Firm. 
 

9. वमाग किकमटेड िे ₹15 वािे 20000 समता अंश जिता को जािी ककए। सम्प णग िाकश एकमुश्  

प्राप्त हो गई। कंपिी की पुस्तको ंमें आवश्यक पंजी प्रकवकियाूँ कीकजए।                                 2 

Verma Ltd. Issued 20,000 equity shares of ₹15 per share to public. The whole 

amount was received in lump-sum. Pass necessary journal entries in company’s 

books. 

अथवा/Or 

वाय किकमटेड िे ₹200000 की संपकत्त सीमा किकमटेड से खिीदी कजसका भुगताि अंशो ं

द्वािा ककया गया। वाय किकमटेड की पुस्तको ंमें जिगि प्रकवकियाूँ कीकजए। 

Y Ltd. purchased an assets of ₹2,00,000 from Seema Ltd. whose payment was 

made by issue of shares. Pass journal entries in the books of Y Ltd. 

 

10. अकधकृत प ूँजी का अिग किस्खए।                  2 

Write the meaning of Authorised Capital. 

अथवा/Or 

संकित प ूँजी का अिग किस्खए। 

Write the meaning of Reserve Capital. 

 

11. अंशो ंका अिुपाकतक आवंटि क्या है?                   2 

What is Pro-rata allotment of shares? 

अथवा/Or 
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अकत अकभदाि क्या है? 

What is Over-subscription? 

12. अंश व सं्कध में दो अंति किस्खए।                                                                                      2 

Write two differences between Share and Stock. 

अथवा/Or 

  प वागकधकाि अंश की दो कवशेषताएूँ  किस्खए । 

      Write two characteristics of Preference share. 

 

13. ऋणपत्रधािी ककसे कहते हैं ?                  2 

What is meant by Debenture Holders? 

अथवा/Or 

 ऋणपत्र की दो कवशेषताएूँ  किस्खए। 

Write two characteristics of Debentures.  

 

14. िीिे दी गयी स ििा से  सकि िाभ अिुपात ज्ञात कीकजए-                              2 

सञ्चािि से आय - ₹1200000 

सकि िाभ -  ₹480000 

Calculate Gross profit ratio from following information – 

Revenue from operation - ₹1200000 

Gross Profit -   ₹480000 

 

 अथवा/Or 

 

किम्नकिस्खत स ििा से तििता अिुपात का परिकिि कीकजए – 

िाि  दाकयत्व –  ₹25000 

िाि  संपकत्त –   ₹40000 

स्टॉक –      ₹10000 

प वगदत्त व्यय –  ₹5000 

Find out Liquidity ratio from the following information-  

Current Liabilities – ₹25000 

Current Assets –      ₹40000 

Stock –                      ₹10000 

Prepaid Expenses – ₹5000 

 

15. िोकड़ तुल्य ककसे कहते हैं ?                  2 

 What is meant by Cash Equivalent? 
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   अथवा/Or  

िोकड़ प्रवाह कवविण के कोई दो उदे्दश्य किस्खए । 

Write two objectives of Cash Flow Statement. 

 

16.  अरुण, भ षण  औि िाहुि एक फमग में 4:3:2 के अिुपात में साझेदाि हैं। फमग की ख्याकत का 

म ल्याङ्कि ₹54000 ककया गया । साझेदािो ंिे सामाि अिुपात में िाभ-हाकि बाूँटिे का किणगय 

किया । अिुपात परिवतगि के कािण प्रते्यक साझेदाि के त्याग-प्रास्प्त अिुपात की गणिा  

कीकजए एवं ख्याकत समायोजि के किए आवश्यक जिगि प्रकवकि कीकजए।              3 

Arun,Bhushan and Rahul are partners in a firm in the ratio of 4:3:2. The goodwill of 

the firm is valued at ₹54000. The partners decided to share future profit-loss in equal 

proportion. Calculate the Gainning and Sacrificing ratio of each partner due to 

change in profit sharing ratio. Give journal entry to record the above change to 

adjust goodwill. 

अथवा/Or  

साझेदािी फमग के पुिगगठि की तीि दशाएं किस्खए। 

Write three circumstances of the reconstitution of a Partnership Firm. 

 

17.  अिु औि बिु एक फमग में साझेदाि हैं औि 3:2 के अिुपात में िाभ बांटते हैं। वे तिु को िए 

साझेदाि के रूप में शाकमि किते हैं , इसके किए अिु औि बिु  अपिे –अपिे कहसे्स  का ½ 

 भाग त्याग किते हैं । अिु,बिु औि तिु का िया िाभ-कवभाजि अिुपात की गणिा कीकजए।        3 

Anu and Banu are partners in a firm sharing profit in the ratio of 3:2. They admit 

Tanu as a new partner. For this, each, Anu and Banu sacrifice ½ of their own share 

for Tanu. Calculate new profit sharing ratio of Anu,Banu and Tanu.   

अथवा/Or 

िाम व श्याम  2:1 के अिुपात में  एक फमग में साझेदाि हैं। उन्ोिें 1/6 भाग के किए 

मोहि को 1 अपे्रि 2022 को इस शतग पि साझेदाि बिाया कक वह ₹120000 प ूँजी के रूप में 

एवं ₹18000 ख्याकत के रूप में िायेगा। उन्ोिें यह भी तय ककया कक पुिािे साझेदाि ख्याकत 

को किकाि िे जायेंगे। आवश्यक जिगि प्रकवकियाूँ कीकजए। 

Ram and Shyam are partners in the ratio of 2:1 in a firm. They admit Mohan 

for 1/6 part on 1st april 2022 on the condition that he will bring ₹120000 as capital 

and ₹18000 as goodwill. It was also decided that the old partners will withdraw the 

goodwill. Pass the necessary journal entries in the books of firm.  

 

18. ऋणपत्र के   ककन्ी  तीि प्रकािो ंको  समझाइए।               3 

Describe any three types of Debenture.   

अथवा/Or  

शे्रया  किकमटेड िे पे्रया किकमटेड से ₹440000 की परिसंपकत्तयां क्रय की।ं क्रय म ल्य का 

भुगताि 6% ऋणपत्रो ं द्वािा ककया औि इस हेतु ₹400000 के ऋणपत्र 10% प्रीकमयम पि 

किगगकमत ककये गए। शे्रया किकमटेड की पुस्तको ंमें आवश्यक पंजी प्रकवकियाूँ कीकजए।  
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Shreya Ltd. Purchased assets of ₹4,40,000 from Preya Ltd. The purchase price 

was paid by 6% debentures of ₹4,00,000 issued at 10% premium. Pass the 

necessary journal entries in the books of Shreya Ltd.   

 

19. कवत्तीय कवविणो ंके कवशे्लषण के महत्त्व को तीि कबन्दुओ ंमें किस्खए।             3 

Write three points on the significance of Analysis of Financial Statement.   

अथवा/Or  

  एक कंपिी के स्थिकत कवविण में किम्नकिस्खत मद  ककि मुख्य शीषगक एवं उपशीषगक के 

अंतगगत किखी जायेंगी- 

(I) किो ंके किए प्रावधाि  

(II)  देय कवपत्र 

(III) वाहि 

Under which main heads and sub-heads the following items will appear in a 

Company’s Balance Sheet- 

(I) Provision for tax 

(II)  Bills payable  

(III) Vehicles 

 

20. अ ,ब औि स एक फमग में साझेदाि हैं जो 2:1:1 के अिुपात  में िाभ बांटते हैं। उिकी प ूँजी 

क्रमशः  ₹12000, ₹8000 एवं ₹6000 है। प ूँजी पि 5% वाकषगक  ब्याज कदया जाता है। स ₹3000 

प्रकतवषग वेति पाता है । ब कुि कबक्री पि 1% कमीशि पाता है । वषग 2021-22 का िाभ 

समायोजि के प वग ₹11500 िा । कुि कवक्रय ₹140000 िा । अ ,ब औि स का आहिण क्रमशः  

₹4000, ₹5600 औि ₹6000 िे कजि पि क्रमशः   ब्याज ₹80, ₹100 औि  ₹120  हुआ। 

िाभ –हाकि कियोजि खाता बिाइए ।                                                  4 

A,B and C are partners  in a firm sharing profit in the ratio of 2:1:1 . Their capitals 

are ₹12000, ₹8000 and ₹6000 respectively. Partners are allowed interest on capital 

@5% per annum. C is entitled to get salary of ₹3000 Per annum and B gets 1% 

commission on total sale. In the year 2021-22 the profit of the firm before the 

above adjustment was ₹ 11500 and total sales were₹140000. The drawings of A,B 

and C were ₹4000, ₹5600 and ₹6000 respectively on which interest were ₹80, ₹100 

and ₹120. Prepare Profit & Loss Appropriation account.     

अथवा/Or 

थिाई प ूँजी खाता एवं परिवतगिशीि प ूँजी खाता में अंति किस्खए। 

Differentiate between Fixed Capital account and Fluctuating Capital account. 

 

21. X, Y औि Z एक फमग में 3:2:1 के अिुपात में साझेदाि हैं।  X, 1 अपै्रि 2022 को  फमग से   

अवकाश ग्रहण किता है । यह किणगय किया गया कक X के अवकाश ग्रहण कििे पि उसको 

देय िाकश ₹41050 में से ₹11050 िकद   एवं  शेष  िाकश  तीि बिाबि  ककश्ो ं में 6%  ब्याज  
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जोड़कि भुगताि होगा। X का ऋण खाता बिाइए।                                                       4       
                                              

X , Yand Z are  partners in a firm in the ratio 3:2:1. X retires from the  firm on 1st 
April 2022. On X's retirement, it was decided that, out of ₹41050 dues, ₹11050 
would be given in cash and the remaining amount would be given  in  three equal 

yearly instalments at 6% interest per annum. Prepare X's loan account. 
 

     अथवा/Or  

साझेदाि की मृतु्य पि उसके वैधाकिक प्रकतकिकध को देय िाकश की गणिा ककस प्रकाि 

की जाती है? 

How to calculate the amount payable to the Legal Representative on 

the death of a Partner? 
 

22. िाणा किकमटेड िे ₹10 वािे 5000 समता अंश ₹11 प्रकत अंश पि किगगकमत ककये। अंशो ंकी 

िाकश इस  प्रकाि से देय िी – आवेदि पि ₹3 , आवंटि पि (प्रीकमयम सकहत) ₹5 व प्रिम  

याििा पि ₹3 । 

 सोिा कजसके पास 200 अंश िे, आबंटि एवं  प्रिम  याििा की िाकश का भुगताि िही ं

कि सकी। उसके  अंशो ं का  हिण कि किया गया। िाणा  किकमटेड की  पुस्तको ंमें  आवश्यक   

पंजी  प्रकवकियाूँ  कीकजए।                                                                  4  

Rana Ltd. issued 5000 equity shares of ₹10 each at ₹11 each. The payment was 

due as following- on Application-₹3, on Allotment-₹5 (including Premium) 

and on First call-₹3. 

Sona, who has 200 shares, was unable to pay the amount of allotment 

and first call. His shares were forfeited. Pass the necessary journal entries in the 

books of Rana Ltd.   

  

अथवा/Or  

समता अंश एवं प वागकधकाि अंश में कोई िाि अंति किस्खए। 

Write any four differences between Equity shares and Preference 

shares. 

23. किम्नकिस्खत आंकड़ो ंसे सञ्चािि से िोकड़ की गणिा कीकजए-            4 

(i) वषग 2021-22 के किए म ल्य ह्रास  ₹2000 का प्रावधाि कििे के पिात् िाभ ₹10000 है। 

(ii) व्यवसाय की िाि  संपकत्तयां एवं दाकयत्व इस प्रकाि हैं – 

कवविण 31 मािग ,2021(₹ में) 31 मािग ,2022(₹ में 

) 

व्यापारिक प्राप्य 14000 15000 

ड बत ऋण प्रावधाि 1000 1200 

व्यापारिक देय 13000 15000 

िहकतया 15000 20000 
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अदत्त व्यय 1000 1500 

प वगदत्त व्यय 2000 1000 

उपाकजगत आय 3000 4000 

अकग्रम आय 2000 1000 

 

Compute Cash from Operation from the following figures- 

(i) Profit for the year 2021-22 is a sum of ₹10000 after providing for 

depreciation of ₹2000. 

(ii) The current assets and current liabilities of the business are as 

follow- 

Particular 31 March ,2021(in₹) 31 March ,2022(in₹) 

Trade receivables 14000 15000 

Provision for doubtful 

debts 

1000 1200 

Trade Payable 13000 15000 

Inventories 15000 20000 

Outstanding expenses 1000 1500 

Prepaid expenses 2000 1000 

Accrued Income 3000 4000 

Advanced Income 2000 1000 

 

अथवा/Or 

कवत्तीय कक्रयाओ ंसे एवं कवकियोग कक्रयाओ ंसे िोकड़ प्रवाह कवविण में शाकमि होिे वािी 

िाि-िाि मदें  समझाइए। 

Explain four items each to be included in cash flow statement from 

Financing Activities and from Investing Activities. 

 

---##--- 

 


